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In the Harrod’s model, the interaction between the

accelerator and the multiplier can lead to upwards or

. downwards instability depending upon the initial

configuration of entrepreneur’s expectation. Explain. 7.5

() Suppose in the Solow Model output in a country
is produced with the production function
X = AK“L'H" , where 0 < a <. 1. Capital
miw at the rate 8 and productivity, A, lld
mhgm:,kamt&wmc initially
economy is at the steady state with constant
population growth rate n;. Depict the steady state
equilibrium in a graph. Now suppose there is a.
one-time increase in immigration, perhaps due to
the mﬂux of refugees from a troubled foreign
country. Use the previous graph to illustrate the
short-run and the hﬁg—nm effects of this on the

domestic economy.
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Describe graphically how an economy attains
golden rule of capital accumulation. If an economy
starts with too little capital, show the transition
path of oufput per worker, consumption per worker
and investment per worker to reach the golden

rule steady state. 3+4.5

Assuming A = 1 and @ = 0 explain how a onetime
increase in the productivity of research as
measured by an increase in & would Vaf’fect growth -
rate and the level of technology overtime in the

Romer Model ?

Explain why the share of population that works
in the research sector is less than optimal in the

Romer Model. 45+3
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In the Life Cycle hypothesis an individual’s consumption

is proportional present value of future income. Explain

the factors that determine the present value. Assuming

capital markets to be working efficiently, if there is an

unexpected increase in income from real estate how

would it affect consumption ? 7.5

(/) State the assumptions concerning Friedman’s
permanent income hypothesis. Using his analysis
showing the variation in average consumption and
income over the business cycle explain why
MPC < APC in the short run and APC = MPC

in the long run 55
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vk
Modigliani Model ? ‘ 2

(i) Why is the model less satisfactory than the Ando

(¢ (M In a two period (period 0 and period 1)°

consumption optimization model given by Irving - -

Fisher suppose the individual’s ¢, < yg. Where
¢ is consumption, y is income and r is the rate
of interest on borrowing and saving. Considér a
consumer’s preferences over current and future
consumption given by U (¢j, ¢)). Show the util‘ity

maximization point with the help of a figure.

(ify How would his consumption be affected in period

0 and 1 if income increases in period 0 and if

interest rate on savings increases. Consider

consumption has normal good property. 3.5+
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Explain the gradual adjustment formulation of nei
investment in the neoclassical approach. Explain
how the increase in the expected output; an
increase in real interest, rate; and a temporary
increase in investment tax credit affects the rate

of investment. 5

Explain the g theory of investment and how it is

used to determine housing investment. 25

Determine the equilibrium portfolio choice of a

‘diversifier’ in the portfolio balance approach. Explain

with the help of a figure why the demand for money

must decrease by progressively smaller amounts as

interest rate increases by constant increments.

3+4.5

Explain using an appropriate model why transactions

demand for money increases with square root of income

~and decreases with the square root of interest rate. 7.5
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Explain the factors that affect the debt GDP ratio.
How does an increase in inflation and- primary
budget surplus affect the debt GDP ratio ? Explain
why private investors would be unwilling to hold

government debt. © 5

What is the merit of using cyclically adjusted deficit ?
What are the implications when cyclically adjusted

deficit is positive ? 1 2.5
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(b) The Phillips curve is given by
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Suppose the central bank has an inflation target w*.

@
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If the central bank is able to keep the inflation
rate equal to the target inflation rate every period,
will the economy experience fluctuations in

unemployment ?

If the natural rate of unemployment changes
frequently will the central bank be able to hit the
inflation target ? ‘

Suppose o = | and the central bank is keen to
reduce the unemployment rate below the natural

rate by 1 per cent how will it affect inflation

overtime ?

What is time inconsistency of optimal policy and
which policy can be used to overcome it ?
1.5+1.5+2425

Explain how asymmetric information problems
hinder the operation of the financial systems ?
Discuss the ways in which the government can

improve the quality of financial information ? 5

Outline the key equations of the basic DSGE
model. 2
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What are the two types of asset price bubble and
which one possess a bigger threat to the financial
system ? How should central banks respond to

asset price bubbles ? 5
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(i) What is the source of business cycle in the policy

(d)

()

(i)

ineffectiveness proposition ? Does it provide a

satisfactory explanation of business cycles ? 2.5

How does an adverse supply shock affect the
production function and labour demand in the RBC
model ? What are the limitations of these

models ? 5

Examine the effectiveness of Seignorage as a way

of raising revenues for the government. 25

A central bank that follows the Taylor rule will
stabilize activity and achieve its target inflation rate

in the medium run. Explain. 4

Given government budget constraint, suppose the
budget is balanced till the end of year 0. The
govemment decides to decrease taxes by 1 in year 1.
Find out the amount of primary surplus that is
necessary to retire the debt in year r. If Ricardian
equivalence holds how would the tax cut affect

the economy ? 35
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